TALON SANDWICH ADAPTER BRACKETS
UNIVERSAL OFFSET - PORT/STARBOARD
1810302 & 1810303

AL

As@i%w Part # Description Qty.
2 2371984 | JACK PLATE ELBOW BRACKET, STBD 1 -
4 2371987 | JACK PLATE ELBOW BRACKET, PORT 1 ﬁ g } W W r
6 2371999 | ARM BRACKET 1 E E E —22
8 2371959 | FLAG MOUNTING PLATE BRACKET 1 R AN O, 14 o E g 5 E
10 2371790 | SHIM, 3PC SANDWICH BRACKET 1 @ ]_ 16 :
g :5 © 0 © ]_ 18 —24
|n1c2|1_1518s 2994900 | BAG ASSY,TALON TO ADP. BRACKET 1 @ ‘
12 2373526 | BOLT-5/16-18 X 2.00" HHCS SS 4 O O O O ]—26
14 2371749 | WASHER-FLAT 5/16 SS 4
16 2371746 | WASHER .750 X .3125 SS 4 ; :
18 2223100 | NUT-5/16-18 NYLOCK S/ I | N
20 2378608 | ANTI SEIZE TUBE, 4CC, TALON 1 } o—10
Inclﬁdes 2994913 | BAG ASSY, 3PC ADAPTER BRACKET 1 | “‘
22-26 :‘ o
2 2373528 | BOLT-1/2-13X 4 1/4" S5 I ‘\
24 2371757 | WASHER-1/2", HEAVY DUTY, SS 8
26 2373108 | NUT-1/2-13, NYLOC, SS 4 =
28 | 2374946 a [ INSTR. SHEET 3PC SANDWICH BRKT 1 o fi"f“
% This part is included in an assembly and cannot be ordered individually. T
A Not shown on Parts Diagram. 6
NOTICE: The kit purchased will contain either Item #2 /
or Item #4 based on if a Port or Starboard installation was

selected.




